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The principle used for transmlsnon of light slgnals through optical ﬁbers is -

(A)  interference -
®B) dlﬁ'ractlon

) polarlsatlon |
y total internal reflection

gofl Qensar PG gefismsamsaaner oigy uumu@;,guu@m Qsnétans
A) . @gas&.@ ellavera)

B) v@aﬂ aflefiby eflenaray

(C) ser cllenerey '

D) @ s aHQgraiiy

Which of the following statements about urea is inoorrecf?

~(A) It does not dhan'ge the pH of the soil

It has h1ghest nitrogen content equal to 76.6%
(C) Itisnot subjected to fire / explosion hazards
(D) It can be used for all crops and soils

E&EETEUD SaDpyseticd Q,lﬂu_mmsu G&0Ss eThs sabmy geu DreTg?

{A) weirentlem pH gemenwen omHmHrg;)

B)- g,rﬂu.lrraﬂa) aplygen sselfsbd B .:sr,;ﬂa;mrr& 76.6% o _dreng)
€) 894556 | QeugEEid SETLOSERES SIILITDHLLL S

D)  ereer Gﬁ]gw&m-uuﬁlﬁs@&@tb [ wamafinE@id 2 mors qr;f)g)gj '

Which allotropic form of carbon is a good conductor of electricity?
(A) Diamond ' |

' M Gfaphite

(©) Coke

(D) . Wood charcoal

\B&sdphs Be sLFHWLINE o drar smiLefen ym Cauhmenn m@mlh oTg)?

(A) evaurbd
(B) &gmenul
© sasf

D) wrésf
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4. | Plectenchyma is a Tissue éomposed of '

@A) Parenchyma , - (B) Collenchyma |

© ' _Sclerenéhyma ‘ _ M Mycelial / threads of Fungi- -
LI eTéL_GNELON GTELIG)

(A)  unmpenensLom A (B) Csradensor
(C) ev&efgenansiom - (D) g@@suﬁldr 2 L @apser

1

5. Phyllode is a modification of following plant part

(4) - Stem | " (B Leaf
% Petiole of leaf (D) - Stem tip
sreuggdlen apg LGS 9&Caom_ns o il ereng)?
(A) . gawl B) @ew
(C) QEeadsmdy : , : - (D) gemgen plewfl

6. The minerals found in milk are .
L Calcium

I1. Phosphorus

I11. Iron

VltammC :
M Tandll - . (® HandII
© 1landIV ©) IandIV

© unaller STRTOUMD STEILALITmLSET

L sl
IL. LITE LI
Nl - @iy

BAA :GO’JG.ILI_.US.]é.ﬂ C . ;
@A I whmn IT : . B) Il wpgo ILI
© MepgolV @ TopghlV.
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7. One gene one enzyme hypothesm is proposed by
® » Watson and Cr1ek o : (B) Jacob and Monod
P Beadle and Tatum | - (D) Landsteiner and Weinberg

S e - G Aprdl Cam_ Ll &@mrra'saﬂu.l:;‘ur'r _
(A) T anett m;_bgubé]rﬂis . (B Ggei;es_u HIb Gurerr..
©  Ygeé wpmyw Guiib L D)  Codrevwearnt whpib eSear@uis

8. The sports in which India won its sﬂver‘medal in Rio Olymplcs 2016 is
(A) Wrestling ' M Badminton
(&) Gym'nastic . . _ o (D) Tenms .

2016 AGWT gadibidls Gurigule) @Hs0 efamemun g GbHwr Qavdrefiiugésd Ga.rsar,r_ng]
{A) u)eou_@gm _ . ' (B) le_l,uu'r_r,grrLLLn '
©  Smpudps . D) Qenaflen

9. Identify the sports i)ersonality fr_om the clues given below
- I He wins 2016 U.S Open Men’s Singles title in Sep. 2016
II. - Heis from Sw1tzer1and and has defeated Novak D]Okowc
M Stan Wawrinka’ ‘
(B) Andy Murray
- (C) Bob Bryan '
(D) Simona Halep
&G QanpasOul [Herer @@uqaeﬂaﬂ@pjg eflenemur,_ @ Gﬁm;mu DIEPLWITGTLD SHawr_fHla:
L Qe buf 2016 @ev & 2016 y, eran. gLich Gurruq.uﬁsu SN HET D MU uLngg Gleusur;uajrr
IL &GﬁL&rram'r_r,g Br L& @Gﬁ‘mﬁ @eur prGeuns gn@ﬁlaaélmaz Comhansamr '
| (A)  eomér eurcuiensm
®)  ayeng iCy
(C) uml Gflwen
(D), &Gwrrwrr‘gmrrcwu
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10.  According to world bank, the following scheme is ranked as the world largest public _viforks
programme
Mahatma Gandhi National Rural Employment Gurantee Act (MGNREGA) .
_ (B) Mid day meal Scheme
(©) Janani Suraksha Yojna .
(D) Indira Gandhi National Old Age Pension Scheme

&@sﬁm_ AL rasefies erg) o wdlenr QuAlu Qung Gasama L b arer 28 auiud siflellGgiereng?
(A) warswr smpH Cadlu mu;s-Gmma) aimiys S b

B  wofueare HiLi |

© spearl syéaqr Cumgen

©  @idrnsf wGunt pigyHu S

11. Dr. Mark Wein berg, the renowned AIDS researcher passed ‘a_waly in April 2017. He hailed

from which country? -
(A)  Finland - gi( Canada
(C) Norway (D) Australla

gLTeD 201751) &AQLDMEN, Lﬂl}ﬁ,s@ Qupp erwCen Comis @951,5,5 SIMOFLTETT LT&LIT. WmiTéE QGuuSIGu
QuUITE 6T BHiT.enL &rrrr;bgm 7P : S :

(A) i_S]s%to.)rr;’bga (B) ' samnn
© pmCe o D) evfGreflwr

12.° Name the.director of the Tamil Film whlch has been selected as India’s official entry in

Oscars 2017.
% Vetrimaran : : (B) Mohan Raja
(C) Mani Rathnam " () Ram

gevat 201766 @pduneldn siflsmryieauwne miepaimar CGupbardrer CoipGsRes LI Herer
z0p Hefiwneller HuaGpT Auwit 5@ms '

. (A) Qeupdlorpen | - B) ‘Gwnsdrr Frg
© wvefigge> ® b
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13. -

14, -

15.

Identify the acronym of the vaccine from theé clues given below -

(1)  The first vaccine of India for the treatment of Dengue

(2)  Reputed Indian pharmaoeuncal oompany has signed a deal w1th ICGEB to develop it
in September 2016 :

- 7 Cipa | . ® Zika

(C) Tdap o | . (D) Hib
Qm@&sﬁnui.@drm efiLysefdmbs sGUY wmpar smEgLALLeRE saL_s.

(1) GL:&@,Q&&@#&&M @pﬁu.m L@mnwu.qdre;rv@gé sGUY LEhE D
{2) ;@5,5@.:..'.. @@@Qmm CGugid Guwupss ICGEBy Lo Aphy @BHu wEHE gtu‘mﬂei;@u‘a
- Bnyeuend o Lanugsems Gelbuir 2016 @6 waQugss @ .Qerargy

@ * fur (Cips) L ® (ke
(©) 4G (Tdap) (D) afl (Hib)

The 2016 Asian Kabaddi Champion is

(A) India (B) Srilanka
(©)  Bangaladesh 4@ Pakistan
2016 - gyaia & <y ELig STHELIET - S
@ @pdur | B Gekes

©) uhisamCgey ‘D) unflevgmen

The GDP growth rate in India for the year 2015-16 is

@A) 7.1% M?G%

© 72% | . (D) 92%
2015-161b gyaimg e Qb Hwnellen o stpm @ eflenar’s Qummt safler auoritad) sgeligib aremen?
A 71% o | B) 76% |
© 12% . D 92%

7  SCWEGSN7
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16. = India has Been ranked 112 out of 159 in 2016 WEFI in September 2016. WEFI refers to
(A) Wireless Electronic Fidelity Index - _ - | ®
M World Economic Freedom Index
(C)  Wireless Electronic Fidelity Internet
(D) World Economic Feasibility Index

-Q&uunun 2016 @&, WEFI 2016 grjsulﬂm&uﬁlm 159 gsurm&;aﬂsu @‘m@ww 112 =6 gy
aupristiLl [Bererg. WEFI aranig Awzé GHEGLD

() - auwiBas adwéerrais o9 g6l BerQL oo (W ireless Electronic Fidelity Index)
(B) %ﬂ@L arsammdls Ut b @erQuge (World Economic Freedom Index) '

©  enwiGed a@abnrrais S Gén_iap (Wireless Electronic Fidelity Internet)
(D) Geumévil craemdE :olsaﬁﬁsilq. Qen@ b (World Economic Feasibi]ity Index) |

17.. What is the fire range of Prithvi — II missile?

(A) 1300 kms o B) 1000 kms
pf 350 kms . (D 500kms

GRgeA - 11 geysenanmulien STEGEL FITLD cTemen?

(A) 1300kms : : {B) 1000 kms
(C) 350 kms D) 500 kms

Al

18.  ‘Operation Raahat is associated with .
"~ (A) Rescue of people from flood affected areas of Chennai by Inchan army
M Evacuation of Indian Nationals from Yemen
(C)  Air lifting of the people surrounded by flood water by the Indian Air force in Cuddalore
(D) Rescue of Indmn nationals from Syria.

%u(‘smspar prang” ereug
(A)  Qearenaner Qaudtergsre urr@esasuuLL LD&ESEDET @p}ﬁm un@jeum B Gg;m_nurra@
- ® @,r_r;,ﬂmtr&cnm Gen mﬂuqaﬂ@mgj QauefCuHmSD G,srrurur:a@

© a;n_gmrﬂa) Qeudamd GLPHS u@@&aﬁsﬁ]@‘r_ﬁg waseer @b eflioraiiuen,. aumer QJEQHJITS
" B gy :

D) aﬂlﬂmm‘ﬂc&@pgj @g,@wmmm BULg
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19. - Match List I with List IT and select the correct answer using the codes given below

o List(Plant) - List 11 (Climate)
(a) Teak ) 1 Cool temperate coritinental
(b) Olive 2 .. Hot désert_
- (¢ Cactus 3. Tropical monsoon
4. Mediterranean

(d) Spruce

) ®  © @

_ (a
o

4 2 1
®) 4 3 1 2
© 1 3 2 4

3 2 1

D) 4

viguéd I g ulgue II oieé Quamss. quméﬁ@é@. ECpa&  dar(ssuun’ (Harer
AgrEgUllaimbg sflwrer eftanienw Asfle Qels. - ‘

uigwe I (sreurib) uligwe I (srevflena)
(a) (Bgés(é | 1. BsGeuliu s @afli sreflae
(b) e 2. Qestiu} uremaeuend sreblena
(© 6L‘1urr§$lei; senadl 3. siuen e LmassTHn srefleme
@ evumen 4 ' |

wsHLgTE SO srablaw

@ ®  © @

@A 3 4 2 1
B 4 . 3 1 2
© 1 3 2 4 .
™ 4 3 2 1

'20.  The State with Iargesf number of Buddhists in India is
(A Gujarat S S ® ~ Rajasthan

. % Maharastra - . (D) Punjab
| Lgsisdr fsib sremin@n FbHur mrr;ﬁ!a)Lb | _ _
@ oms , B) ~ @urgavgnen
(9] LD&ITIJHG]’&[:FIIIT o . - D) - Lgsem
B S K2 | .~ SCWEGSN7
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21.  Where did Gandhiji announce his “Action plan of Satyégraha” against Rowlatt Act? .

(A) Delhi o o (B) Sabarmathi @
©) Bombay : o M Chennai '

ST Gperer ELLgﬁmGa;,ﬁqrrw sNg sg,ﬁu.maﬂlm Gurrmn_a._gﬁsn Gau.lcoﬁl_s._,smg eradl(pibg!
Siflefiggmit? -
(A) (q-edl (B) suinnd

(© wburd | (D) Qecnenen

22. In which year the golden temple at Amnstar was built?

(A) 1754 - ,ga( 1764

© 1774 - D) 1784
atﬂlr’r,s&u'duﬂ_& QumpCsmuie erps .%amq.m 5LQQuLLg|?

(d) 1754 '_ _ (B) 1764
) 1774 _ D) 1784

23. “Dauladabad was a monument of misdirected energy”-Who said this?

(A) Dr. Ishwari Prasad _ - (B) Barani
M Lane Poole (D) Edward Thomas
“ng,srrmrrulrg geupren auflsT Gapisstar b HearellL b —ereny sadlwaui wimi?
(A) Dr.revaufl Syeng B) uresfl

C) Goernge _ D) e el gmoe

24, Who used the term Dravidian to denote the South Indian people for the first time?

(A) Gnana Sambandhar - ' (B) Rev. Schwartz
4@ Bishop Caldwell | (@ G.U. Pope
Qgen GpHuw wasmer Giss Hyrellit arinp LEHOS PHAD LLETLBSHWeT wWi?
(A)  @pren sOLBST B) seumliev gu
€ Gegt STOPGUS D) &.uCum

SCWEGS/17 | 10 S | B



26.

- TamilNadu government had set-up a three member committee to enquire into and examine

the question of centre and state relations headed by .
(A) Dr. A. Appadurai : (B) B. Shiva Rao

(©)  Justice Mohan 7 P.V. Rajamannar

wiHu ~orfle e paismer HITL SUPETE ATE wnmeLw semeenould apart QETenL @game
FHuBEHwE? | | : | |
(A) LAGLT S.oouTgey - ' B) 9 .é}q.lurreij

(C) BHuf Guonaen | ' D Q.. @wrn.qésramr‘r

" Which one of the following officials, has the right to speak and take [;art in the proceedings

of either house of parliament without right to vote? .

(4) Chairmaﬁ of Union Public Service Commission

o M Attorney General of India

27.

(C)  Governor

- (D)  Election Commiséionér

QeeuBid S5 SIauersaio, i ol anssaisgb o faw Gdwmod, unn@pwamsda Bm
siasussiien Qg iisafigbd sopg Qaran® Cusb o Amwvenw Qupgdreri?

@A) wsHu vafurai Cgiray amflis Samaes |

B)  2ys pamwmL uPssHET

© ot |

D)  Gaips gyeamui

From which language was the term “Democracy” derived?

(A) Latin ' ' ' ﬂf Greek

(C) Araﬁic ‘ _ I (D) Persian

apg Qumulletmbe: m&&mqﬁﬁmmé @@é@@ “l}pnﬁg’#]" GTEHD QUTTHENS Qu‘mauf_l_.g?

@A)  esdar B) &Créaid
©) =Cnos - O QumAuér

u |  SCWEGS/IM7T
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'28.  Match the two groups and select the correct _ansW'er:

(a)
®
(c)
@

(A)

®)

(©)

Group 1
Spermatophyta
Gymnésperms
Pteridoﬁhytes -

Bryophytes

@ ® ©

%4 3 24A

&Cp. G{w@és&uuL@d\'m @ fenéduyb Qurmss sflurer oflepLew Mms.: -

(a)
()
(c)
(d)

@)

®B)

(C)

D)

Gifley I

QUGG @UL Badr 1.

RbCammev@uibaeT
QALAGL T epL_QiseT
BepgCuimssen L QseT
@ ® ©
3 4 1
3 4 2
s 31
4 3 A‘ 2

SCWEGS/17

2.

3.

4.

@

Group I1
Amphibians of the plant kingdom

Vascular cryptogams

Plants with naked seeds

Seed bearing plants

Afay II

- greury 2 evdles Brdleo cumpeuan

UGG HFEHEHL T Salg. LLEUTSSTEITLD
ﬁg}fpg BangwerLw Freupd

Seng greughiser

12



29.
. (A) Administrative Reforms Comm1ssmn of Ind.ta

30.

31.-

Central Vigilance Commission was set up on the recommendation of

(B) Knpalam Comlmttee

% Santhanam Committee

(D)  Gorwala Report

wsH saTsTesiiliL) G &@ml_ Gpaer Aumfla ug ﬂgmnui_ugjl

A @b firans Fiflpssd

(B) Amuarred G
©  spgrend Gy

D) srewrer gfsas

“Which one of the followmg Presidents, declared internal emergency in 1975 on the adee of

then ane Minister Indlra Gandhi?

A VV.Gins P’ Fakhruddin Ali Ahmed
(C) BD Jatti ' (D) Dr. Zahir Hussain

demeu@d  Guwrs sooaiseie eeai g@meat, 1975-0 yagd qUCuUTeFW lﬁlqgﬁwﬁ

@@Qurr snpgullen sidleymsseden Cud, 2 arpr( ABHsaly Hameoenu GysLemb Qsiigoui?
A  ed AN o B)  usEEeT i Sisw0s |
©) Y4 griy - D) LréLi sradi » Ceen

Who 'among the following persons was the Congress Pr.esident, when India became

. 1ndependent in 19477

(A) Purushottaman Das Tandon (B) U.N. Dhebar -
M Acharya Kripalani _ - (D) Rajendra Prasad

1947-1b 2y,e0TIg.60 EHHwir &ﬁpﬁumml_p,s Glurr@gj ﬁ]m&m@um@m ereurm @gbﬁw Gl mrmuﬂuaﬁlar
SNWGUTTE B (HHSaT? _ »
(A) y@Gagréswen grev FTERTLE _ (B) W 6T, Ggm_lr'r
C) s Sguiemred] _ (D) @Cyrgbdy Gyens
13 | - ' SCWEGS/17
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32.  After 1991, the Government of India implemented various reforms in the area of taxation.
This was based on the recommendations of the

(A) Wanchoo Committee Raja Chellaiah Committee X
(©) KN Raj Committee (D) Narasimham Committee '

1991550 Ger @bHL Dips cufls gjmmuﬁlw LG SrHmSphIsMTE Gmggj @wm@wwmnm abg
Y Carsamend @peilan Siglient_ufleomeng?

A  angsEw (B) yrgn Qadvenair Gp
(C) KN.omgew : (D) mrébwb G

33.  The motto of the Twelfth Five-Year Plan is
y faster, sustainable and more inclusive growth
(B) towards faster and more inclusive growth
(C) growth with social justice and equity
(D)  employment generation with faster growth

uelQrerLreugy mibsream(® S _sdlen @;ﬂléz(ﬁ&rréh
Q) gfs Buss Powss wipb Sifs 2 drersdu auertéd
(B) = Ceusioner wHmb SEs 2 drar_s8 auerizdlenws Cpréds Asdeais
©) saps B wHod 510 2 Lewwo siafiEfeny eueniés
- (D) Cauee amnilsu sfaefléss Gelwb gjrﬂg; aueTisd

34, Permanent settlement was the.feature of
: j Zamindari system ' (B) Mahalwari system
(C) Ryotwari system (D) None of these

Hleneowiren ﬁrrsu ereLIg) TS @@msmmsﬁlm @oauﬂtu SDEONE @)(HEE DE?
A gbeangnfl ey (B) wadeurfl aperp
©) @rugeurfl gpeap D) aapdgfidame

35.  Which one of the following committees examined and suggested financial sector reforms?
(A) Abid Hussain Committee (B) Bhagawathi Committee
() Chellaiah Committee ' arasimham Committee

Qeraumbd  Gpsseie g B ;ﬂgmm Eifmpsusmer e Qaig Q;,(anmemsm

UPRIELIULL &7 i
B) o5 gremser G | B  usad e
(C) Qsv@ewur @y ' o D) prévww G
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36.

37.

« 38.

Which one of the following statement is incorrect about Raj;aji? .

Rajaji was the leader of Salt Satyagraha in Tamil Nadu

M Rajaji made the Quit India Movement a successful in Tamil Nadu _ B
(C) Rajaji introduced compulsory Hindi education in Tamil Nadu while he was a prémier

A)

D)

“Rajaji's Kulakalvi Thittam forced him to quit his premier post

|§Idrm(|5Lb awrssugHod Qrrgrgflenws ubdlu geuprar G#uhﬁmu QsfEAs(Hs.

s0pasHa o 1§ ssHwndlysi Cumypm_L_gfen semaeugns @rrpred @mbsi
QaidrmenuCer QaialGupy Quissas slipsasSod @rmgred Qaupd Qups Asdgni
sllpssder @goaunTs Qmps Au g sCLmu Qb4 sdeilanus Ueslenn

@qngn@uﬂaﬂ GV&E06AS L1 eueny (y)gmmwwlr ugaﬁ]uﬁcﬁ]@mgj @mr&]arrrmrr Qe

A
(B)

©

O

‘Which one of the followmg is correctly matched"

M Koli Risings =

®)
©

0

The Cutch Rebellion -

~ Wahabi Movement -

Velu Thambi Revolt  —

1829
1828
1800

1806

Epsar_aupger sfwner sl Coibe TS T pg!s.

(A)
B)
(©
D)

Ganedl arpsd -

- BLE EQ&D o -

éurrg[orrlﬁl PQussnd | -
Gougy gtbi9 LA -

1829
1828

1800

1806

Who led the 1857 revdlt in Central India?

- {(A)

" Nana Sahib
4 Rani Lakshmi Bhai of Jhansi

(B) Begum of Oudh
(D) Tantya Tope

1857, Qu(mii se&id W @mﬁun@ﬁ]s‘o SO FHDGUT u_|rrrr? '

)

©

prem smdll)

grendl grefl sl umis

15

(B) 2CurgH Gua;u:
@) grpghun GarGu
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39.

< '40.

41.

Find the correct answer : _
' 3 5 8

: 7
- ' 4 6 4 6
5 2 2 3
| 58 58 62 ?
Ay 126 ®B) 122
<€) 128 . _ (D) 124
sflunen eflen_ew CaibEsHES! .Gr@gewh.
' ' 3 5 8 17
4 6 4 6
5 2 2 3
o 58 58 62 7
(A) 126 B) 122

(C) 128 ‘ p’ 124

Kumar is incharge of a hostel mess. He has to decide upon the number of chapatis needed
for 25 students every day. Suppose the students eat the following no. of chapatis : 2, 3, 2, 3,
2,1,23,22,5,3,4,2,4,2,3,24,4,2,3, 2,2, 4 Among mean, median and mode which is
the most appropriate representative value of the data to take a decision?

4 Mean - (B) Median
(C) Mode : (D) None

g:(Cr SFUUNETFIen G eremueui, 25 mnmrmﬁa;@é(g, @ Breaéseg GCaemeuwner soungglset |
aggenen cranmy Siwreflés Couamhin. wremeuisdr @m prer 2, 3, 2,3, 2, 1,2,3,2,2,5,3,4,2, 4, 2,
3,24, 4,2 3, 2 2 4aep aarefismsi@e sribl L, sgref, Qoo oerey uppd wa®
SAueupper 6rgy BRHS sriuraTmhéE 2 S b? _
@) sy | | B) Qe oo aey
©) s@ : D) gGecuseie amaydlama

-

Latha is a year older than Sunita. Sunita is two years older than Bindu. Rajan is a year
older than Bindu. Who is the youngest of all?

(A Sunita (B) Latha

Bindu - (D) Rajan
wgr, safignane L @ uwg Gurﬂumr’r..-&aﬂgrr; Ahgiency el 2_%5&1’@5561.1' Quflweurr. gmger,
Dpgieneu el b euwg Quifueui. arafled apauflcr wimt Adtweur? '
(A) seafign - B) g
() lfﬂ,if;gl ' - (D) g
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42.  What percent of 2 i‘?
' 7 . 35

® » 25% - ®) 5%
10% - : (D) 25%
1 aremTLIg) -2~-s'0 asgemen 55608107
35 7
@)  25% | . ®) 5%
©) 10% ' D) 25%

43.  The price of a loaf of bread was increased by 25%. How many loaves can be purchased for
the amount that used to buy 300 loaves?

@(240 . B) 250

260 o (D) 275

Qrmiiq 5 &ehriqen flevw 25% cgg,as 2 wrBgTe, 300 Gl;rrruq.g gier(HaEeT eumiidw Ggrrsmsufﬂa) cr,sg@nan
Qomilig s & e (HE6T eumhis Qplq.ﬂ.jLD? ' _

@A) 240 o (B) 250

€ 260 ' _ (D) 275

44. If A:B=6:5 B:C=5:8and C:D=7:9, thentheratio A: D is
A 3:7 | . ®) 7:8

© 12:7 . ' 12

A:B= 65BC 58mmguwCD 7:9 aaflés A: D =7

@ 3:7 S ® 71:3
© 12:7 ® 7:12

45. Hx:y:z=1:2:3and %+ y% + 2% = 224 then the value of x° + y° + 2° is
(A) 576 o - (B) 1728

P’ 2304 _ (D) 2240

x: y z=1:2:3 wg)guwx + 5% 4+ 22 —224 craﬂwx +y +2° -armﬁuucrwm?

(a) 576 g B) 1728
(C) 2304 : ’(D) 2240

B : 17 ' ' - SCWEGS/17
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48, What is the volume of a cube (in cubic cm) whose diagonal measures 443 cmis,

@A) 8em® | ®) 16em® | ®
© 27 cm? M 64 cm®

gpae AL 1D 4V3 Qs.8. sierayer senagITEH sen SieTey (& QETd)
(A) 8@si8’ - (B) 16 @s.8°
(C) 27Qs.8° (D) 64Qs.8’

47.  Six men working 10 hours a day can do a piece of work in 24 'days. In how many days will
9 men working for 8 hours a day do the same work?

(@) 10days | ®) 15days
M 20 days | . @ 12days

6 syeradt, g Cumaaw praamansg 10 wafl Cprd Caume Qaig 24 prisefid apylui.
9 yamaar, prdemanpsd 8 well Cprb Caere Qalgnd aggoer prisald sdiGaumamu .

pigULIT? _
(A) 10 priser o (B) 15 pmiaer
©) 20 puiser | ©) 12pmadr

_ [ _ .
48.  'Two right circular cones have equal radii. If their slant heights are in the ratio 4:3, then

their respective curved surface areas are in the ratio

A 16:9 @ 2:3
p/z;:a '_ | (D) .3:4

Gran® Gpaul L SubLser 0y swwnren Grhsmer QSTETDETTE. SiMausaTer STl L WIPHIEHT

4:3 enp fppde @ouden simausaiian ameariyp LTS WapGL

A85586 QEsELD. |
@  16:9 C®) 2:3
(€ 4:3 D) 3:4 |
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49.

- 50.

51.

A cube of side 4 cm is painted red on all of its surfaces and then divided into various smaller
cubes of side 1 cm each. Find the number of smaller cubes with two surfaces painted red.

A 4 S B) 8
© 12 | -%24-

4 Qs.8. usad Qara @ ST sHITFHen DMeERSFH LESRSEHD fauliy euamed LAw Ner 1 Qz.5.
ussh Qsrar. Aflu ser sgirhises WAssILCLTH SiaupDld BTeTH FomiiseT aamad s L
Adlw sen sETRIGET THSMST RHEGD?

A 4 ' : (B). 8

© 12 (D) 24

Find the missing number in the series :

6,11, 18, 27, 38,__, 66 .

(A) 58 _ B) 54
s @ 59
Pereumid DsTLiT eulenguileh eSHLC L eres Gra'iTégT?

6,11,18,27,38, __, 66.

~'(A)'58 . (B) 54

© 51 - : D 59

Two cars X and Y start from two places A and B respectively which are 700 km apart at
9 a.m. Both the cars run at an average speea of 60 km/hr. Car X stops at 10 a.m. and again
starts at 11 a.m. While car Y continues to run without stopping, when do these two cars -
cross each other? . :

@ ipm. S (B) 1.20p.m.
© 220pm. A 3.20 pma.

Xwpmd Y cem @@ smiser meg)(?u.:' A w;bgtb B arenp @ risefer @@g,gg umbu@é\fpg. ,

- aree 9 weflég anrsEnds @aal_cu.:u.mm gayo 700 £.5. @pawr@io 60 £.06./wenft erewp syref

Coussfa vweisdpg. X aam s aree 10 weell apséd 11 wafl ey giiay aBsg Ger geng
LIWIGRTEHENS G,snl_tré]mgj. e ¥ aps g}u.le.qun a@ssa&]wmm Qecdod GranQ SITEHEHD
cruGurr@g; FETEOD QD 51.5@{3? '

@ 1lpm. ® 120pm.

© 220pm. ' (D) 3.20p.m.

1 SCWEGS/17
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52. When a capillary tube of silver metal is kept. vertical in a beaker filled with water, the
meniscus of water surface in tube is ' '

(A)  horizontal M convex . K

(C) concave : (D) biconcave

Qeudrafined Asiautul L, @m HaTgmear Graw Ghamauuld edam Bld QeriEssns oausEn
Qurpg Bfer Cuduriy erduauy usdd BmEGn
(A) ferLgger Blavawulier . (B) seger Hlenaufed

© @ ser flovwndir D) @6 uphd Gifs Hewdo

53.  Which of the folléwing sources gives best monochromatic light?

(A) Acandle ' (B) Abulb

(C) A mercury light . : w A laser source
“Spsar_cupmer argl s Apns ebhen Hp geflew AsrRasn?

A  Quueeisd . (B) oy |
©) Quisgh sﬁlsm's@ D) Caosr gafippeotd -

54.  Which of the following statement is /are correct?

(1) Sound wave of freéuency more than audiable frequency are called ultrasonics
(i) Speed of ultrasonic waves is less than speed :;f sound | |
(iti)  Ultrasonic wavelengths are small
(iv)  Ultrasonic wave is used to check take currency notes
A) @), (i) and @D B) (@), (i) and (iv)

ﬁ’ (1) and (1i1) ' | (D) () and (v)
&lﬁ.‘pé;a;akn'_m,r_f)gjm sfluneneney erenau? |
@) BQwrellden siemeveulans, Gal_gid aqmsveurﬂéamu Al sflad
(i)  BSAurdlber Cauan gaflufien Causgens Al Germey

(i)  BAwrluler smaBand Gapay
(iv) LBGquraSISGiT sarer grLImD Curl_(hamer Gerdlés LwenuREng

(A) (@), (i) and @ii) ' ®B) (@), (i) and (iv)
(C) () and (iti) (D) @ and (iv)

SCWEGS/17 20 B



~ 55.

56.

A 2

M Aluminium

Match List I with List IT and select the correct answer using the codes given below the lists:

List I List IT
(a) Thallium 1. Deoxidiser
(B .Aluminium 2. . Dental work
(¢ Boron - ‘3. Ringworm ointments
(dy Indium 4.  Ultra marine

@ O © (d)

1 3 4
3 4 1 2
© 4 3 2 1
D) 1 2 3 4
uliquidd T o6 uﬁ.u;.u'.la) I g Quirsd, SeuphnEs ECup 2 een QanEU9Smba e
cfteremeng Gzfley Galis: . - :
Ut '  ulgue I
@ srdud 1 gasfaisi
®)  o@ulalub 2. uij)éséi*r Qgm_irurer Couana
{(¢) Gungmen 3. Cordriy seflbyser
4. solgr Quemrer

@ Qamyuid

() b - © (d

A 2 1 3 4
® 3 4 1 2
© 4 - '3 2 1
® 1 2 3 4

The metal related to ‘Alzheimer’s disease’ is
(A) (B)

®)

Chromium

‘sidFioi’e GHTLY - 2 L6 Qgm_iiyaLw o Garsd
(A)  ECrmblwub
© ogfaiun .

21

B "
D)

Cadmimﬁ

Arsenic

S uBhud

- el

SCWEG_Sﬂ':
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b7.

58.

59.

When yeast is producing wine which one of the following is not formed?

P Acstyl Coa (B) Ethyl aleohol
(C) Carbon—di-oxide | D) | Pyruvic acid
rev. Qsdsdr, guildr swurfidgh Curg Spssam_aupdle agl o awm_nésLLIBeauBodma?
A) e Gsmer B) asfe Q@a;gmrrc’o

)

(C) smiuen - e - YP&oavH D mu@aﬁ]éz <jLflevid |

Red Data Book provides data on
(A) Biota of Red sea

(B) - Infra red rays |

(C) Red pigmented plants

ﬂf Endangered species

a5 GPES peabsd ‘fAailiy sT6) UbSESHV o dreten
(A) Qs e 2 arer 2 ullfentiser

(B) &Ny agiadr

©€) SHalyfpSs@heLw graptiser

D)  sifub Beetigider Garhser

Malaria and toxoplasmosis are caused by. ' |

/ Protozoans : (B) Fungi

(C) Bacteria (D) Virus
wCaflwr wpmb LrEGsr SemevGordien -g o_dﬁ..rrés@fo anyesf) oTg?
A) UG GLrGsTaseEdT ®)  yeessa

(©) urr&u.lﬂu.mésc'n‘ D) DEUNEOSHET
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60.

61.

62.

How many number of satellites has been sent by PSLV — C 37 rocket recently?
a) 108 | (B) 88 ' '

© 1 & 104

PSLV - C 37 dlanQauefis ssfear o galluj_er _&tsuﬁﬁé) agpmen granears Canarseat @Gy swSHd
geuuLLer? _

@® 108 S - ® 88
© 15 | S D) 104

Which country has won ‘the 5t edition of Asian School Hockey Championship 2017?

(A) China

(B) - Iran
% India

(D) Malaysia

g@gﬁ&‘%ﬂm uerefwereiome anrEd GUnqu_asaﬂdJ 20176 Qeupfl Qupm prH
(A) e ' '

(B)  wymen ‘
© @sdwun
M wCawdwr ' .

Which film was selected as the best film in the 64 National Film Award?
(A) Joker | | . :

y Kasaav

(C) Puli Munigan

(D) Sachin

6deug Qgélu Seogiii 66]@@ aupiduded Apps uLwns Cpitey Aawniul L uLb eg?
(A)  Cgrési | |

(B)Y asnsmes

©  udlposa

@) sifar

28 ‘ SCWEGS/17
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63.  Who wrote and published the biography of Apple founder Steve Jobs?
(A) Walter Benjamin (B}  Scott Johnson : . ‘
M Walter Isaacson (D) Scott Walker

Epscm_cuiselid Ul Bpeuent cved grid SeuisddT ampsms anerpap apd -

Qeueflu gy wimir?
A4) é.uréal'_l_fr Qugpsiien o B) cvan grensen
(C) aundlLipessen (D) dvarl eursat

64. © Hyper loop is a
% Proposed mode of transportation
(B) New pipe loop model
(C) New Computing architecture
(D)  Bullet train

mg{mllurfrg;nﬂ STEITLIZ) SLGID.
(A)  CGursgeursdpsner Ll il
B)  yHw euliQGen sipd GurrséTm aganmug
© ydw ;séwﬂaﬂ S L6l

D) odCaus Asmi cuairy.

65. . is the new Ambassador of United States to Umted nations from Jan’2017

M Nikki Haley {B) Susan Rice
{C) Samantha Power | (D} Michele J. Sison

saraufl 2017’ Smbg padu prHsEnsaTar msfu HQwhssrelen NyHHH wimi?
@)  HsdCanCes B (B) @senaopev
(€ sorpgr Gumeur D) WN&Cséd.d. ensgsn
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66.

67.

68.

The couﬁtry having the world éupér fast computer is-
China - | . ® Usa

(C) India - \ (D) Russia

2 wfler sifellereurar 5mﬂe§lwﬁ.|l_'1 Qu;i}gxsi‘rm B @&

) - fawm S B) w.eev.g

© @pdur (D) resun

Who is the First Women Secretary General of the common wealth? |

' (A)_' ~ Antonio Costa

(B) Stuti Narain Kac;k’e'r, '
(C)  Sunil Kanoria

M Bafdness Patricia Scotland =~
smoan@eudgHan upser Auert AurgFRswer wmrr?
(A) .%ahTGL@ﬂGquf CarevL_r
(B) smdl penygen anéaET
(C) | safles sCeriwm

(D) GQGJHG;_T;dU Qui Aafwir duaremear_

The recent excavation at Keezhadi Village i_h Sivagangai district have revealed

M Pandya — Roman trade contacts

(B) Pandya - Greece trade contacts
(C) Pandya- Chinese trade contacts
(D) Chola — Roman trade contacts

sBUSH®, Hastiews wran Lib Spmy Brmogdd msprieiear Curg s@( aRssULILL LW

LIpenLOE é]sirres;rémée’n Heoliuhssieug!

Ay uramqui - Cproraflwim eumasfiu Ggm_r;rq
(B) - urerquit— ACr&sT cunenflL Ggrﬁ..fn.;

(©)  un@mgqwit— Sanit auresflu Agmiy

(D) G;nggfr— CrmreflunT curertlu ng'_frq

25 . o . SCWEGSN7
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69. Solar eclipse occur when the

A)

Sun is inbetween moon and earth : o ®

ﬂ, Moon is inbetween sun and earth

(©)
®)

Earth is inbetween moon and sun

Earth, Sun and Moon are in a curvilinear position

" @fAw Hyavend @iHleelis puBdpg

A

(B)

©) elugissb, spdrgissh e el sremiu@b Curg

®)

sprané@d, yellé@n Gea uld @ fwer STaRTIL @1b'-(3urrg|

GRugis@, yliégb Gm e sprer sreariL@b Gurg

el @fwer LHL sHHren cuenarCar .G siewlndd e drearGung)

70.  The incorrect statement-among the following as pér 2011 census is

)
®)

India’s population density is 382 persqns/sq.km

Sex Ratio of India is 940 females / 1000 males

@ Literacy rate of India is 70.04%

D)

Arunachal Pradesh is the least denéely populated state of India

@S was' Qgrens sersQs@uy 2011-é1 vy £Cyp an@é&ﬁuu’.@dw@maeﬂé: goupren

aur&Swib
A) @phu wis Asras SiLisH 382 puiadr [5.8.8
®) @pdureiién uré G eSgi> 940 Quiairadr / 1060 S TEET
© @bdundics sdeflwfla; ssaisn 70.04%
D) .

BpHurelen BasgGampps wiaser_isfewus Garar wmfleawn ac@aumm GyGgeid
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71.

-T2,

73

©)

The Western disturbances, which aﬁ‘ects the weather of north-west Ind.la ongmates n

@A)

©

Mediterranean sea _ (B) Arabian sea

Caspian sea - ; (D) Dead sea

aiL Guope @pHureiles aralleaau LTSéEh CupasHu @@L wpreng Coraipnil ib

0FHIL SOFESLD B Sinds s d

SreuIeT s (D) enkasd

The theory of sea —floor spreading was formulated by

(A)

Alfred Wegner
W.M. Davis

K Prof. Harry Hers _

®)

Arthur Holmes

‘BL& gaTUFUY UTase’ e CaTLUM L QUg.aIeLOSHoIT-

A)
®)

©

)

20 9QyC. Qaugpelienit  (Alfred Wegner)
W.M. GLeSe» (W.M. Davis) |

Prof. apmfl Q@r’rdv (Prof. Harry Hers)
2its Capmbev (Arthur Holmes)

After the creation of Andhra Pradesh in 1953 according to State Reorgamsatlon Act of
1956, which two southern parts were added to Tamil Nadu? :

‘(ﬂ' Kumari District and Sengottai

(B)
©)
D)

Ramnad District and Tirunelvelli District

' 'I‘irunelvelli and Sengottai

Sengottai and Palayam Kottai

- 1953 ey e BHTOGICEsD e paurdsiil L Gdrent, 1956 gyib e wrfie omETenoUy

sCL LU TS @ OsaefipHiu ugHad gtﬂp‘mm_@m @mm&suuu.g?

@A) .

(B)
©
D)

WM wre.L b wppbd GsmGsre

QrmoBTELTD Wwre LD WHIHID ;ﬁ@@mm(‘amaﬂ wreuL1b

HmAneCaudl whpd QeiGaremL

QemCamen wHmb ureeubGan_aL

21 ‘ SCWEGS/N7
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74.  The tomb of Itmad-ud-Dawla was constructed by Whom? : :
(A) Akbar M Jahanglr S @
(C)  Shahjahan | (D) Babur

Bsws-2 g-Qgarer aenp Havereys Henargans erUrniweuft wiri?
(A)  @sur _ T B geprhdi
©) agTggsme : M) wuruir

75. Name the ﬁrst elected woman who become the Deputy speaker of Madras Legislative
Assembly during the Ministry of Ra] aji.

(A)  Radhabai Subbaroyan
(B) Ammu Swaminathan
(C) Muthulakshmi Reddi
M Rukmani Lakshmi Pathi

- Cecrenar sl 1_sausE yaamypepuns Gsiey Qeiwiuc @ gl ewssramaudld gmer
sunpmwnsyrs Ceiey Qewiwdin’ L Quaktoesl) wmr?

(A grgrumd SOUFTWEN
B)  sibw surdersan
€  wsgo_ad Aplyg
D) @é@mmﬁ Qe afug

76.  Which of the following statement is True? _
M The credit of establishing the first empire in South India goes to the Satavahanas

(B) The Satavahanas did not have a sound administration
(C)  The taxation system of the Satavahanas was strict -

(D)  The Satavahana society was not prosperous

S\paeairL ‘;«g‘ﬁ)gsaﬂd) sRlwnarenal ereneu?

(A)  Gsa@pdurede apsd CuiTms o BamsAuaiseT sTsaTET ST Byauft
(B)  srgaunaariadt penwwrer e Sumaritaer s

(© srgaursarisaiian cuflelld apenn Blasayld s a1oTs QHHES)

D) srgaunseisafen Fapgmud GafiiiLirs Gome
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. 77. The Ri_ght to Information Act was enacted in the year

©

(B) 2006
(D) . 2008

a0 Sifluib 2 Menio b GUBDLILLL DGR

&)

©

78.  Match List I with List II :

| (@)
(b)
(©

d

' (2)
e

(B)
(©)
D)

2.

2005
2007

List I

Haryana

Karnataka
Kerala

Maharastra

3
1

(b)

[ N T )

©

e 0

@

W NN

(B) 2006
- (D) 2008

List II

48 seats in Lok Sabha
20 seats in Lok Sabha
28 seats in Lok Sabha
10 seats'in _Lok Sabh.a

I_ll'_tq.lin)'i[-g i igaed-I1 ;Lu;fn Qurmsgis :

. (a)
®)
(c)

@

(A)
®
(©)
D)

®

DL tg 6o I

anifleimerm

STBIL&T

Gayamrr

| 'mgprrqtrs\'qnq.l;rrr

N A

R W W

©

- b L= DD

W N N

L A

(d)

U guied I
48 a&sareneu @uﬂ:sd‘r
20 wésarencu @L_rluéssi"r

28 wasareney @)L w6

. 10 waseTeneu @ rsET

SCWEGS/17
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79. Which of the following a_tatements are true w1th regard to Lokpal bill?
I - Passed on Dec. 18, 2013 | . ' @
I. States to set up Lokayuktas within 100 days |
III.  States to set up Lokayuktas within 365 days
IV. Passed on'Dec. 19,.2013 |
@) MandIV | ® IV
© 0 I @ landlll
éldlm@a;:mm pgyeT Gaonsurd 1GETSH sHUBHILLL sppsafie sfuramasaer Cpirey Qs
1 e 18,2013 sy SepGappit 5
1L mrr;ﬂé)ris&dr 100 pm‘Jaﬁa{i Coné < uidsrency Ogrm.ﬁus Gaem(d
III.  erfehsd 365 prisaid Gons %u.{ésgsrra;m Qgrrius Gauekr(Hib -
V. 4s.19,2013@0 Qprisiuicgy | '
@) Hwoppd IV . g ® IV
© o . (@) Lupgw I

80. Within how many days a minister has to become a member of either house of parliament, if

he is not already a member of either house of parliament?

(A) 60days

_ M 180 days
(C) 30days
®) 150 days

unun@mmmpﬁar 8o Simeugafigiid n.g;uu&lam SOVTH g:@surr SDDFEFIATD  CTHHENET
PrLsE@5EGET S unnn@mmmﬁﬁm gcg@m S e uSn'Ia) o.gu&mmrs 2,5 Cauer(Hib?

(A) 60pmiser

® 180 priser

©) 30 pm s

M 150 an&ér

SCWEGS/17 . 30 - | B



- 8.

On which one of the following dates was the Nati_onﬂ Flag adopted?

@ A 15% August 1947

82.

83.

(B) 23 August 1947

Jef 2204 July 1947

(D) 26t July 1947

Qeénaumid s prefié Calus Qamy. parLpanss Qsran® SuUTLILIL L g7

Q) 1947-1 e & 15-b prar
B) = 1947-b @ & 23-1b e

(O 19475 gyeh g Oewa 22-1b pre

©)  1947-b e gOwa 26-b prer

The objective of Bal?u Jagjivan Ram Chhatrawas Yojana is
M to provide hostel facilities to SC boys and girls students
(B) to provide educational facilities to girls
©) to-provide employment oppoftﬁnities for girls

(D) to provide health facilities 'fqr women

urrq.Gaésgmér gmd sgreutav L shlen Gmrr&cslb

(A) gsr@ﬁguu LL. orenrey, LATEILITES SI(BE eusﬁ Qeng Qesrr@ Oug
B) mrraursﬁ‘lu.l@a;@ el auad Qawg GarHug

©) Imrrmra&]u.l@&@ Caueme cumiliy gHupsH Qesr@uug

D) QuansEpée wEHSHe wsd Qsiig Qén@ﬁgs’u |

India Vision 2020 is the document prepared by.

(A). Manmohan Smgh : (B) C.Rangarajan
W Shyam Prasad Gupta _ (D). Suresh Tendulkar

Spdur cilager 2020 areip YyoueRTieng SW mﬂﬁggmr'r wir?

A)  waGurser A ' ' B) C. risyrger

©) SHwmbd Qyerg Glgn o " D) &Crey Ao
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84, | The main objective of the po.li_cy of disinvestment of equity capital of public enterprises is fo
/ reduce the burden of budgetary support to therﬂ . o ' A ®
(B) convert them into holding companies | | '
(©) hand them over to private entrepreneurs
(D)_ to make them profit earning enterprises
Qurgisgen Hpeentisai 05 psSRsmas FHmbu QU BIT& QsrétenssaTan &S
SNJGRTLD . | ' ' B
(A)  oipflen f& Fonipanus @GnSE
’(i?;) ' ,5§G§®e%@fo Hyeueniiganms wrHHi_
(C) QsmPnuaerGeuriseflLid SeflLLgHETS

(D) emubd FFIL@Lbﬁ‘g}IQJGWﬁI&GITI‘I‘_& OTHMIUSHETS

85. When and where the National Institute of Intellectual Property Management has been

setup?" _
/ 2012 at Nagpur - (B) 2012 ét New Delhi

(C) 2014 at Chennai (D) 2014 at Nagpur

Gl sifley sy fleno Guareranto Hliyyeuans aLQurpgl. ThHS @Lgﬁﬁ)-%q&iﬁméuug%?
(A) 2012, pray - ‘B) 2012, g Qe |

(©) 2014, Gsenever (D) 2014, préyi

86.  For how many times did Nehru become the President of Indian National Congress? -
@ 2 ' o 3
C) 4 . D 5

Crm, Qi Calu srudjadlan sooans 5smat oD ugel cuflgsniv?
A 2 . : : ®B) " 3
© 4 S ™ 5
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87. Point out_the ‘wrong statement in the following :
.-. Statements '_
L Indian National Congress was founded by A O. Hume
1L The first meeting of the Indian National Congress was held at Bombay
. W.C. Banner]ee was the first President of the Indian National Congress
IV. The second session of the Indian Natlonal Congress was not preeuded by Dadabha.1

. _ Naoroji o
(A) TandIIonly LT (B) II and III only
(©) Iand I only - y»’w only

Epsar. sBHEgIsaMD supTaDS Hiig.d sreimds &sayb;
H(HHHIEEET ‘
- L @p@u GCasélw 5rrr5u£lgem R @gﬁlg,@arrrcu SleuESOLL L&
II. @idu Csélu a;nrmeﬁl;ré]m PeD &L LD Lbumydley ‘r_m_‘mg,gﬂ
1L Lyew.d uranigd @bHw Cadlw sriidlrdler pge semeveurmeumt
IV, @édu Csdlu smadyadlen ren_meug) sl b grsmumi QperGrrgluimed gL@%L‘lLILGE\é)Cp@
) 1 wpgo IT wr G - ® I opyo I oo |
© Ilopgd Moigo (D) IV i@

- 88. The Radical Democratlc Party was started by

4 MN.Roy () N.Dutt
(C) S.C.Bose o . (D) Lohia
pHCUTES RETBMUE SUS@w 2 (heasrddweur wiri? |

(A)  abeergmi ®) oran. 55
(C)  aeiv.d). Gumev | D) GCeraflwi

89. Anamount of Rs. 420is divided among A4, B and C in the ratio -;—% % Find B’s part.
(A - 72 _ ' ’ B 8
M 180 - : (D) 168 .
1.5 7 PURPUE o n |
5. 4208 A B womn C &g rk '5'% efflgsH0 19058 QarBssTd, B -6 LkiE g ?
@ 72 . S ® s
© 180 S ®) 168
B S - . 33 S SCWEGS/17
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90. Xand Ycan complete a job separately in 40 and 60 days. After working together for 8 days,

X leaves. What is the total time in which the work is completed? _ o
7 48days , (B) 44 days
(C) ~ 46 days - ©) 40 days

X WHGHD Y peopCu gnm Cumaamu 40 wppe 60 prisals sefiggefiuns Qaiig apuourisdr. - '

8 pll'L_&GIﬂa) seirsdar Csips apuss Dar Xe cranusurr doGdpmnr. sps Ceumer apyu crmmarm

BTLSET @ ? _ |
(A) 48 griaa : -~ .(B) 44 pmiser
(© 46 pm_ser _ . - (D) 40 prisar

91.  The value of (23 + 56)2 (28 - 56)°
23x 53

@ 2 S ® s
e o

(23+56)‘ (23 - 56)

23x53 a0l .
@ 2 | - ® 3
© 4 o | D)
. | 24 8 .
92.  The highest common factor of —,—, — is
| | 3’9’21 '
2 ﬂ( 2
. (A - =2
@ 3 63
8 8
C — =
© 13 . D) 63
24 . .8 ., ..
37 oo H-af e wit Qungy sngerfiwreng
2 2
A - =
@) 3 (_B) 63
8 . 8
© 13 D) o)
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93. .

. 94.

. 95,

In what time will Rs. 6,000 amount to Rs. 6,615 at 5% p.a. comp_ounded annually?

(A) 1year-- | _ ' MZYears

(C) 3years _ (D) 1% years

2 6,000 ayeng 5% 4o MLE . SSpib QsTein crpenen ATOEAND T 6,615 HBD?

@ 1ge@0 - ®) 2 gyen@sa

© 3a@npasr | O 1} g

A person deposited ¥ 6,000 in a bank and received ¥ 7,500 at the end of 5 years. Find the -

rate of interest, assuming that interest is simple interest.

@ 35% . | B) 4%

%5%_ ' ®) 55%

emaui T 6,0008 9@ auhidufié GQogusd 5 %am'r@emﬂm 'qu.sﬁ!&) T 7,500 Gu;imﬁm‘r erenfien, euilig.
SsHm5sE SIS m;qmuj gafl aulig e Glairlrsli'rs.. ' ' '

@ 3% - ® 4%

© 5% : D) 5.5%

A cup is in the form of a hemisphere surmounted by a cylinder: The height of the cylindrical -
portion is 9 cm and the total height of the cup is 12.5 cm. Then the radius of the cylindrical

portion is ' ,
% 35cm | B) 25cm
© 215em ®) 9cm

) Gsmhmuu.mmg a;mu&-(‘aérrargﬂdr B8 e (menar @éanbg i eflé) 2 dreng. a.@maru u@ﬁuﬂé’r
2wyb 9 G5, Hgd Camumuuien Qs '&qu 12.5 8. eratfied, o myenars) LiGHuden o

A) 35Q8 . ®) 25Qs8

© 215Qs8 - @) 9Gs8.
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96. Find the missing term : .
B:16::D:? SR ' ‘ .
(A) 120 ’ _ (B) 150

© 200 o & 256

e cramean s@THg :

B:1'6::D:?.
(a) 120 , L (B) 150
©) 200 | (D) - 256

’

97. A and B together can do a piece of work in 4 days, but A aloné can do it in 6 days. B alone

tak_é to do the same work in ———— days. _ _ ,
® 5
© 4
®

A wopgh B aéueaiiad Qe Gaibsl @ Cauameerw 4 prisefle. @q.ﬁum’ra;dt”@mrré) A

LG s Caumamu 6 prisafid @qﬂurﬁr. 208g Cauamaaw B wl@b Qeitgl Puss -

T sdT @D,
(A) 12

© 3

o =
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98.

99.

100.

Three numbers are in the ratio 2:3:5 and the sum of whose ‘squares is 608. The number

are —, ——, ———, .
B) 46,10 . /8, 12, 20
(© 251510 S D 12:8:20

epenmy eredmaeT 2:3:5 Grsmp eﬁlélggﬂa) o GTeTa. DtMeUSMET QHLIGWTES St g aTed SiB6 WHLIL]

608 arafled 2ibg erefrgeT —, ——, —— %w
@) 4,610 _— ®) 8,12 20
© 25,15, 10 @) 12:8:20

The average of 11 results is 50. Average of first-6 results is 49 and that of last 6 results is .

52. Find the sixth result,.

58 - ®) 57

@
* .. . .
) T - o s

11 apyeysefien spref 50 @b, wse <2 @4@5@@7 st;rrslﬂ 49 Lo,rg)gsw awm_.ﬂ 6 quaj&a’ﬂm '

erqrrslﬂ 52 erafiled Geugj Q.plq.&] sTemen?
@ 58 S ® a7
© 8 | D) 56

The difference between compound 1nterest and simple interest on an amount at 10% p a. for

2 years is Rs. 40. Find the amount. ‘
M w000 - ® 4200
© 4100 . D) 430'0

Om QJ(IDLTBI&@&@ 10% QJL.lq. eﬁggﬁa} (h Glgrram:a;esrran geoﬂ WwH@d am.@ mgqs@sa;nw

I. efigwirsind T.40 Greoﬂw auﬁ,sg QgTena ereLauemey?
(A) 4000 s (B) 4200
© 4100 I (D) 4300
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Register
Number

2017
GENERAL STUDIES
4(Degree Standard)

TLme Allowed ; 2 Hours] | o [Maxxmum Marks 200 :

Reéad the following instructions carefully before you hegm to answer the questions.

-

& o

10.
11.
12.
13.

IMPORTANT INSTRUCTIONS

The ‘applicant w111 be . supphed with Question Booklet 10 minutes before oommenoement of the

examination.

This Questlon Booklet contains 100 questions. Prior to attempting to answer the candadates are

requested to check whether all the questions are there and ensure there are no blank pages in the

question hooklet. In case any defect in the Question Paper is noticed it shall be reported to the

Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.

If any defect is noticed in the Question Booklet after the cormmencement of exammatxon it

will not be replaced.

Answer all quesnons All questions carry equal marks. -

You must write your Register Number in the space prowded on the top nght side of thls page. Do not

wnt.e anyt,hmg else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

You wxll also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. mﬂ],_ﬁl,_e_gf
in the space provided on the side 2 of the Answer Sheet. If you do.not encode

* properly or fail to encode the above information, action will be taken as per commission’s notification.

Each quesuon comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks w111 depend on the number of correct responses marked by you in the
Answer Sheet. .
In the Answer Sheet there are four circles @ ,®,. © and (D) against each question. To' answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select

" one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark’

more than one answer for one guestion, the answer will be treated as wrong. e.g. If for any item, ® is
the correct answer, you have to mark as follows : .

@000

You should not remove or tear off any sheet from this Question. Booklet. You are not allowed to take -
thm Queatlon Booklet and the Answer Sheet out of the Exammatmn Ha]l dun.ng t.he exammatmn

The sheet before the laat page of the Questlon Booklet can be used for Rough Work
In all matters and in cases of doubt, the English Version is ﬁnal
Do not tick-mark or mark the answers in the Question Booklet..

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decade at their discretion.




